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Приложение №2.

Самостоятельная работа.

I вариант.

Уровень А

1. Найдите значение cos
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2. Упростите выражение:

а)  (sin
[image: image7.wmf]a

– 1)(sin
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Уровень Б

1. Вычислите значения тригонометрических функций угла 
[image: image15.wmf]a

, если  tg
[image: image16.wmf]a

= 5 и  
[image: image17.wmf]p

 < 
[image: image18.wmf]a

 < 
[image: image19.wmf]3

2

p

.

2. Упростите выражение:

а)  tg
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б)  (1+ tg2
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	Таблица ответов

	№1
	№2

	sin
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II вариант.

Уровень А

1. Найдите значение sin
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2. Упростите выражение:

а)  (1– cos
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б)  sin 2
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Уровень Б

1. Вычислите значения тригонометрических функций угла 
[image: image46.wmf]a

, если  tg
[image: image47.wmf]a

= 5 и  
[image: image48.wmf]p

 < 
[image: image49.wmf]a

 < 
[image: image50.wmf]3

2

p

.

2. Упростите выражение:

а)  cos2
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б)  (1– sin 2
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	Таблица ответов

	№1
	№2

	sin
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